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TR <E% 1EUE/HE>
Bz |Tavy| K¥FE | BEF =EFH 24 | @% | YDS| FEH| TD
1 T SRBUK 7 |BIRF AT 4 8| 267| 33.4 1
2| 71 HiAX 35 |lA B 4 18] 420 23.3 1
3l T BERER 81 |%m JRA 4 7| 158] 22.6 0
40 1 IHK 2 |mm X 2 16| 332 20.8 0
50 71 LESN 29 |HE EBE 4 7| 145] 20.7 0
6 T BAA 23 |EB En 2 15| 270| 18.0 0
70 71 BiAX 10 [#x 18 3 8| 133 16.6 0
8| 71 Bsh 22 |mEE #E: 3 8| 131 16.4 0
9 71 LESN 36 |EE HE 3 7| 12| 16.0 0

THIE <EH% 1EkRHRE>
1§z |Favy| K28 | BS BEFZ 24 | @% | YDS| E£H| TD
1 T BHAX I EL 4 1 52| 52.0 0
2| 71 PN 28 |/ A 2 5| 207] 41.4 1
3l T SREA 21 |RE 2B 4 2| 78] 39.0 0
40 1 BiEHE 6 |FLrr B 2 6| 187] 31.2 0
50 71 BHAX 83 |# 1 4| 117| 29.3 0
6 T BERER 29 |am@E §Eh 2 2| 53| 26.5 0
7071 SREA 20 |#E st 4 1 25| 25.0 0
8| 71 IHK 22 |E# O 2 2| 49| 24.5 0
9 T BEREX 1 |BEfs E® 4 5| 120] 24.0 0
9| 71 Eigm@ - g Es 1 1 24| 24.0 0
1 T Bsh 1 [lrx B—# 4 2| 46] 23.0 0
) T BEEX 17 |&# o% 3 5| 110 22.0 0
1B T hRA RS 3 2| 43| 21.5 0
"l T BERER 18 |[BE# #mX 3 2| 42| 21.0 0
5] T LEPN 4 |EE R 3 1 19] 19.0 0
1] T SRBUK 13 |&mE =t 1 1 19] 19.0 0
)T HiAX 84 |k fHE 3 1 18] 18.0 0
18] T BERER 84 |'B FF 2 1 17] 17.0 0
9] T SRERA 2 |mA & 3 3| 50| 16.7 0
20| T HAX 4 |ER % 4 1 16] 16.0 0
21 T IHK 80 |A  AAAE 3 2| 30| 15.0 0
2| T i@ 8 |EE #W=# 4 1 12| 12.0 0
2| T IHK 84 |iEB X# 2 1 12| 12.0 0
24| T IHK 24 |MW 4 4 471 11.8 0
25 T BEIEX 3 | FRE 2 1 1f 1.0 0
26| T BERER 31 A 3 2| 18] 9.0 0
26| T BEFER 3 |®mA k& 3 1 9| 9.0 0
28| T BiEHE 13 |&EmE = 3 3| 23] 1.7 0
29| T k= 98 |Em# RF 2 2| 15| 1.5 0
0| T IHK 10 |sxtus— @ 4 2| 13| 6.5 0
31 T HAX 4 |so -8 4 1 5| 5.0 0
31 T HiAX 98 |EA & 4 1 5| 5.0 0
B T BAX 3 |e—q— varvy| 4 1 40 4.0 0
T SEBK 82 |fh¥H H8 4 2 7| 3.5 0
| T HiAX 5 |k EE 3 2 7| 3.5 0
6| T BiEHE 81 | BEE 3 2 0| 0.0 0
36 T e 36 |l BEAK 4 1 o[ 0.0 0
6| T BAX 1 |#EE A 4 1 0| 0.0 0
6| T BEFER 13 |#@ EF 3 1 0| 0.0 0
6| T HAX 9 |W@H = 3 1 0| 0.0 0
36 T BAA A E 3 1 0| 0.0 0
6| T BiAKX 33 |Msn WA 3 1 0| 0.0 0
6| T HiAX 89 |mEE kM 2 1 0| 0.0 0
6| T SRBUK 80 |# B 1 1 0| 0.0 0




